EARAROBEEIERT — 2 N— IBISH —F

2016511148 (B

) 6EIZKR3E

m C2—# ¥Y>%—#% ‘ Xzl 2 ‘ [EmAE] — | % () 14000 FR
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- \ HER :29. -3-4- . — RIESHAI (KIR)
1155 =y bovL1a o4 HE 1(2_9)5 4-3-4-3 | 39.5 4 (i?i) feenl
L:TA=—T4FAF=—H> Bz bhu¥5 EET el
43 | AR 1:29.6 5-5-5-4 [ 39.0| — 2 470 | BWE— (KiR)
] 4| Fa—/FEx 56.0 (7E) (47) | FIEEX
R:TLAITLTI N BT—XANTHAT FUFLT7— L
P, i3 | AME 1:29.7 1-2-1-1 [39.9| — 1 450 | HEEER (BRFE)
38|10 Py T¥—> 56.0 (3/4) © |.® 7HLIn—
LA T7A—- BTIAYT RN — BHR&SE 7410 T00—
S e . AlxRE : —4-3- — iR ()
4 3| KLSTI1—> 4 3 54_0% 1.(320).0 3-4-3-2 | 40.0 5 <4+2235 el
LiFhY~7124 B:RKLIT2 Palzsbae]
. sS4 T 44| WAEER :30.0 8-8-8-7 |38.7| ~— 6 480 | /B (KR)
5/8/9|R7Ty FETAT 5.0 () Gy | REER
RIS oTFE2T71 BXHI AR v Bk Bk
TmE 30, 65 8| — BHE OKiR)
6 6 Ja9os 74— 6 A (12310/24) 7-6-5-6 | 39.8 10 (4+671) L
LA LINT Ry TR B:Ly KA4F “EUJ:?ktﬂzta
= N o N > (g -9-9- — FEE= (BRRE)
71111 FITRIN—4& 6 56.0$ 1'(32())'7 9999 | 39.1 3 :?;; wlﬂag_
LiErs/07Oq4 BI7HAFIVHCR HE&Tr—L
s S o3 | BIERZEMR 1:31.1 6-7-7-8 | 40.4| — 8 438 | 1£EE#EB] (KIR)
gl7|7 | FILbyay 56.0 @ 1/2) 4s) | TESE ’
LY LTAN=F B:ovA b3y I #2
N . =Xy : —1-2- — RIREF (KiR)
9 9 HrarOwrX 4 6 Al 1.(311).3 1-1-2-5 | 41.4 9 ;1+532) Smn
R:TH—T4FAF—XH¥> B:U4>XE—F ES7e]
" . o SSARRKE :31. -10-9- . — FEA= (BE)
w0l7ls | TyUsn—2x B 7 oy 1(33/14)4 10-10-9-10 | 39.9 6 (4_331) pae=
R:TT1T145—FT1>7 B:R2—%x))N— akikie
® 1—F—@EBIERL
13=37r= (2,10),3,5,4,7,6,9,1,8
20—F— 2,10,5,3,4,6,7,9,1,8
33—7+— |[10,2,3,5,(4,6),7,9,(1,8)
43—+ — 10,3,5,4,2,6,9,7,1,8
[ /N
B 5 1,790M 714K 4-5 400MH B 4-5 1,220 JEE 4-5-10 760M
B B 5 220M 5-10 500M B = 4-5 1,370M JEE 5-4-10 14,560
4 1004 4-10 130H B H 5-4 5,820
10 100
ABICOVWTRHDTERERRODLDE, THERLE,



